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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.

HAS-B-LOMA /



@ug A
SECTION A

Q1. Trafefaa d & yees &t 7T 150 vreat # o Hifve :

Explain the following in about 150 words each : 10x5=50
(a) -emfsgeh TUwor

Non-Verbal Communication 10
(b) W S i TTEET S GWTfad HH AT T

Factors Affecting Quality of Work Life 10
(¢)  uREdTH® Aqea

Transformational Leadership 10
(d) ufEds & fatg & &4

Sources of Resistance to Change 10
(e) Itk TT AfUHR

Power and Authority 10

Q2. (a)

(b)

(c)
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“ararery U THE AR 8 fae fou et TeT # srawa @ A
T F1EC T 30 3THe BT AR | THATIY |

“The environment is a major contingency for which an organisation

must plan and to which it must adapt.” Explain.

TSI o HEYUl TTaATeHeh Tt i faaem Shifse |

Discuss the important structural dimensions of organisations.

“frm et | fird B 8 17 39 U o 3T 4, ST @l o ey
T frami ud qHeuel % AEw @l gHEey |

“Rules are different from norms.” In the light of this statement, explain
the importance of rules and norms from the organisational design

perspective.
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Q3. (a) “G&¥ Ugd e wqar Uga Nl & quH 2rar 2 |7 fooguht Hifse qen we
! W1 ! ATATET |
“An organisation without goals is like a rudderless ship.” Comment and
explain the importance of goals. 20
(b) U WA % U Ui T Ughd I TAOAT % IR UG Srarifed =il @i
l .
Explain the objectives and the phases involved in establishing a Quality
Circle system for an organisation. 20
(¢) “Sfoes TraaNd Fifieh wrarei & faudia aidt & |7 fya=an Hife |
“Organic structures are opposite to mechanistic structures.” Discuss. 10
Q4. (a) GHHRY o weEfd 1 fFa TR *r fwaeT sem § & 3y % w9 §
39T foha ST Tkt B |
Explain how promotion can be used as a tool to enhance job
performance. 10
(b)  MYFh WAl # e favawwr 6 w1 yEfhal § 2 SEEdl ¥ g
eIl ! THIATSY |
What is the relevance of Transactional Analysis in modern
organisations ? Explain the key types of transactions. 20
(©) A % vy-ae fagia ot 388 greg Iqea Ao =1 avi Hifvre |
Describe the Path-Goal theory of leadership and its associated
leadership styles. 20
Qvs B
SECTION B -
Q5. fr=feriaa & & Uoes &1 W 150 vreai ® Tqw Hifw ;
Explain the following in about 150 words each : 10%x5=50
(a) BSAIA S dTATS=G1
Strike vs. Lockout 10
(b) fsdTET ey
Performance Management 10
(c)  ¥&=9 H HIHTRI T TEWITAT 1 a3l
Philosophy of Workers’ Participation in Management 10
(d) henfies gey o1 e
Scope of Industrial Relations 10
(e) =W Iruredfd
Labour Absenteeism 10
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Q6. (a)
(b)
(c)
Q7. (a)
(b)
(c)

Q8. (a).

(b)

(c)

HAS-B-LOMA

SfvTEor % WET Td Wl I FUH I |

Describe the importance and types of training.

@mwmw%?aﬁﬁamwmaﬁwﬁﬁ?ﬁaﬁ
getag hifT |

What is a good job description ? List some methods of collecting
job description information.

T (SOEEE) FT BT 2 T o SIS (3SHRH) HrhA o el
ﬁml

What is Placement ? Explain the components of an Employee Induction
Programme.

W%wﬁ%&awaﬁmmﬂﬁaﬁaﬁﬁ%| IECEEI
Hifs |

“Different types of tests are used in the selection of employees.” Discuss.

Fa FAREROT Td &faqfd % Gey el % AawEhal GG fHgd a
o % femess faga % Ffgart & faa=m Hivw |

Discuss the implications of Maslow’s need hierarchy theory and
Herzberg’s two-factor theory in relation to employee motivation and
compensation.

frsTes et sh1 GEATd qem e fafer # st TTE <IN |

Differentiate between the traditional and modern methods of
Performance Appraisal.

“Seivt % faeerd § oW H@9 Uh @ien @ |7 R A9 HEWA @ ? aadH ded d
o Well o1 firehT 1 ST TeHTCHe Tk hifag |

“Trade unions are an impediment to the growth of industry.” Do you
agree ? Critically evaluate the role of trade unions in the present
context.

“Sieifier ehUa Yoy TS Afienl % HET Hola: U H@ON @ | 36 hUH
witegor AT |

“Industrial conflict is basically a struggle between management and
workers.” Examine this statement.

SNl T &1 991 UEd 8 ? GHesy fob wed # Nenfies wey (3178.3TR.)
%1 forH TR S@MET ST Hehal 2 |

What is the importance of industrial relations ? Explain how Industrial
Relations (IR) can be enhanced in organisations.
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